C€

Montageanleitung

TV- Halterung

VM-XP302 - Artikel: 50564

Tragkraft Maximal 60 kg
tibliche Gerategrofie: 23-42" (58-107 cm)

LICHT-KRAFT' TECHNIK

Technische Anderungen vorbehalten!

Durch stetige Weiterentwicklungen kénnen Abbildungen, Funktionsschritte und technische Daten ge-
ringfligig abweichen.

Aktualisierung der Dokumentation

Haben Sie Vorschlage zur Verbesserung oder haben Sie UnregelmaBigkeiten festgestellt, nehmen Sie
bitte Kontakt mit uns auf,

® by WilTec Wildanger Technik GmbH Seite 1
http:/hwww.wiltec.info

Ce@m

Vielen Dank, dass Sie sich zum Kauf dieses Qualitatsproduktes entschieden haben. Um das Verlet-
zungsrisiko zu minimieren bitten wir Sie stets einige grundlegende Sicherheitsvorkehrungen
zu treffen, wenn Sie dieses Geriit verwenden. Bitte lesen Sie diese Bedienungsanleitung sorg-
filtig durch und vergewissern Sie sich, dass Sie sie verstanden haben.

Einleitung

Anschrift:

WilTec Wildanger Technik GmbH
Konigsbenden 12/ 28

D-52249 Eschweiler

Wichtiger Hinweis:

Nachdruck, auch auszugsweise, und jegliche kommerzielle Nutzung, auch von Teilen der Anleitung,
nur mit schriftlicher Genehmigung, der Wiltec Wildanger Technik GmbH.

® by WilTec Wildanger Technik GmbH Seite 2
http:/hwww.wiltec.info



60kg(132Ibs) max.

-

23" - 42"(58-107cm) max.

C x2

5 0

2 =g =@ = L
M4 (xd) Mdx12 (x4) M4x30 (x4) M6 (x4) small plug (x4) large plug (x4)
& Ty g T T =
M5 (xé) MSx12 (x4) MSX30.0c4) M (x6) MBxB5 (x6) ©10x80 (x6)
= ity
@ Wy __...
ME (x4) MEx12 (x4) MEx35 (x4) (x1}
Wittiy gy E"‘Lru. i _ Lt ()
i “JZ’E@ %_,@ = i
M8 (x4) MBx16 (x4) MEBx40 (xd) M6 {x2) MEx8 (x2)




" [ DE (=]

®A

===-===

q J




100mm x 200mm - 200mm x 200mm - 300mm x 200mm

SRS

Tighten the screws as picture shows.

] /I
Tighten 2
L Ighem \9

_5_

_6_.




4




C€

Installation Guide

Monitor Mount - Single
LTO04 — Article: 50564

Max. lifting capacity 60 kg
standard size of device: 23-42"(58-107 cm)

LICHT-KRAFT' TECHNIK

Technical changes reserved!
Due to further developments illustrations, functioning steps and technical data can differ insignificantly.

Updating the documentation
If you have suggestions for improvement or have found any irregularities please contact us.

® by WilTec Wildanger Technik GmbH Seite 1
http:/'www.wiltec.info

C€

Thank you for purchasing this quality product. To minimize the risk of injury we urge that our
clients take some basic safety precautions when using this device. Please read the operation
instructions carefully and make sure you have understood its content.

Introduction

WilTec Wildanger Technik GmbH
Kénigsbenden 12/ 28
D-52249 Eschweiler

Important notice: The reprint or reproduction, even of excerpts, and any commercial use, even in part
of this instructions manual require the written permission of Wiltec Wildanger Technik GmbH.

® by WilTec Wildanger Technik GmbH Seite 2
http:/hwww.wiltec.info



P Parts Included

A C x2

MOUNTING INSTRUCTIONS

==
M4 (x4) M4x12 (x4) M4x30 (x4) M6 (x4)  small plug (x4) large plug (x4)
E| & O
M5 (x4) M5x12 (x4) M5x30 (x4) I M8 (x6) M8x85 (x6) ®10x80 (x6)
) lllllllllll
E llll J
M6 (x4) M6x12 (x4) M6x35 (x4)
g,
Mgy ( Wit
o G| & 3 oK
M6 (x2) M6x8 (x2)
._—’m 60kg(132Ibs) max. L MB ()  MSXI6(4)  MBxd0 (xd) o J

23" - 42"(58-107cm) max.

P Tools Requiped (Not Included)

f) e ¥ =

_2_



P Installation

@

4]

50mm(2.0")
R —

o5mm (0.20”

@A

4]

85mm(3.3")

iz10mm(0.39”)

:Ia10mm(0.39”)

Adjustment May Be Needed.




\

Attach part A to part B by hooking on.

[k )
ey

=G

Tighten
them

=

Tighten the screws as picture shows.

Attach the cover (C).

TOP

BOTTOM
=

4

T
0

/
v
v

T
5

L

L
LU

I

7T

NOTE: USE OPTION a FOR VESA HOLE PATTERNS OF:
100mm x 200mm - 200mm x 200mm - 300mm x 200mm




Route Cables.

_7_

To get optional viewing,
adjustment May Be Needed.






